# SECTION 00300

# BID

# EVANS PARKING LOT IMPROVEMENTS FOR TOWN OF MILLVILLE, DELAWARE

TO: MAYOR AND COUNCIL	Date: 6/19/23
MILLVILLE TOWN OFFICE	3
36404 CLUB HOUSE RD	
MILLVILLE, DELAWARE	19967
	,
Gentlemen:	
existing under the laws of the	corporation", "a partnership", "an individual", or "other OWN OF MILLVILLE, DELAWARE (hereinafter called
WORK for the EVANS PARKING	rtisement for Bids, BIDDER hereby proposes to perform all G LOT IMPROVEMENTS in strict accordance with the the time set forth therein, and at the prices stated below.
therete certifies as to his own orga	ch BIDDER certifies, and in the case of joint BID each party nization, that this BID has been arrived at independently, a, or agreement as to any matter relating to his BID with any or.
angeified in the NOTICE TO PRO	nmence WORK under this contract on or before a date to be OCEED and to fully complete the PROJECT within 40 er. BIDDER further agrees to pay \$500.00 per day in ENERAL CONDITIONS.
BIDDER acknowledges receip	t of the following ADDENDUM:
Addendum 1 Acknowledged	
R180092 ADDENDUM 1	00300 - 1

This BID includes sales tax and all other applicable taxes and fees.

SCHEDULE A: UNIT PRICES BID - EVANS PARKING LOT IMPROVEMENTS

ITEM NO.	DESCRIPTION	SIZE OR DEPTH	UNIT	ESTIMATED QUANTITY	UNIT PRICE	TOTAL PRICE	
<b>A</b> 1	Removal and Disposal	-	LS	1	\$ 59,600.00	\$ 59,600.00	
A2	Furnish & Install Bituminous Concrete Binder Course	3"	SY	2510	\$ 21.20	\$ 53,212.00	
A3	Furnish & Install Bituminous Concrete Surface Course	2"	SY	2510	\$ 15.75	\$ 39,532.50	
A4	Furnish & Install Graded Aggregate "Type B" Base Course	8"	SY	2510	\$ 168.00	\$ 93,408.00	
A5	Furnish & Install Flat at Grade Concrete Curb	-	LF	410	\$ 53.00	\$ 21,730.00	
A6	Furnish and Install Striping	-	LS	1	\$ 1,050.00	\$ 1,050.00	
A7	Furnish and Install Erosion & Sediment Control Measures	-	LS	1	\$ 1,750.00	\$ 1,750.00	
A8	Furnish and Install PVC Electric Conduit	1.5"	LF	40	\$ 7.50	\$ 300.00	

# SUBTOTAL - SCHEDULE A (Items A-1 to A-8):

This BID includes sales tax and all other applicable taxes and fees.

SCHEDULE B: CONTINGENT ITEMS - EVANS PARKING LOT IMPROVEMENTS

ITEM NO.	DESCRIPTION	SIZE OR DEPTH	UNIT	ESTIMATED QUANTITY	UNIT PRICE	TOTAL PRICE
B1	Secure Modified Proctor Tests, AASHTO T-180, Method A	-	EA	1	\$ 200.00	\$ 200.00
B2	Secure Field Density Tests, AASHTO T-191	-	EA	ĺ	\$ 150.00	\$ 150.00
В3	Excavation Below Subgrade	•	CY	5	\$ 15.75	\$ 78.75
B4	Furnishing and Placing Gravel Bedding	-	CY	5	\$ 89.25	\$ 446.25
В5	Miscellaneous Excavation and Backfill	-	CY	5	\$ 78.75	\$ 393.75
В6	Furnishing and Placing Special Backfill	-	CY	5	\$ 105.00	\$ 525.00
В7	Furnishing and Placing Type B Graded Aggregate Base	-	CY	5	\$ 100.00	\$500.00
В8	Topsoil, Fertilize, Seed, and Mulch	-	SY	10	\$ 84.00	\$ 840.00
В9	Furnish and Place Miscellaneous (4000 PSI) Concrete	-	CY	5	\$ 500.00	\$ 2,500.00
B10	Street Restoration Crew Rate	-	HR	8	\$ 525.00	\$ 4,200.0

### SUBTOTAL - SCHEDULE C (Items B-1 to B-10):

Nine Thousand Eight Hundred Thirty Three Dollars and Seventy Five Cents

Dollars \$ 9,833.75

This BID includes sales tax and all other applicable taxes and fees.

#### SCHEDULE D: LISTING OF SUBCONTRACTORS

R180092 ADDENDUM 1

Each BIDDER shall complete this "LISTING OF SUBCONTRACTORS" in its entirety. Failure to do so shall render the BID non-responsive and be grounds for its rejection by the OWNER.

Name

and

Mailing

Address

Subcontract Trade	Subcontracto	r's	Name	and	Mailing	Address		
Bituminous Pavement	Performed by Bidder							
Others	Eskridge Concrete - 8548 Northumberland Dr, Delmar, MD 2187							
The BIDDER shall complete the about BIDDER is performing the Subcurperson of the BIDDER" in the BID OPENING REQUIREM to, a detailed list of recently-complete the about the BID OPENING REQUIREM to, a detailed list of recently-complete the about BIDDER is performed to the BIDDER is performing the Subcurperson in the BIDDER is performing the Subcurperson in the BIDDER is performing the Subcurperson in the BIDDER is performed to the BIDDER is performed	ontract Trade the first column ENTS noted upleted project	liste n. A in Se ets as	d, the BI dditionall ection 001 noted the	DDER y, the I 00, incl erein.	shall enter BIDDER mu uding but n Note: Add	the words ust submit not limited Additional		
Enclosed herewith is a Certified Ch Base Bid.	neck or Bid Bo	nd in	the amou	nt of Te	n Percent (1	0%) of the		
The following corporation Business Type	is headq	uartei	red and/or	Chartere	ed in the Stat	e of		
MD								
Ryan Cahall Watness		Sig	icki J.	Puse	y			
			le: Presid		@terrafirmacc	orn com		
					rma of Delma			
CORPORATE SEAL		38	156 Britting	ham Rd.				
6/19/23	Date	-	elmar, DE 19 siness Addr					
D190002 ADDENDUM 1						00300 - 4		